
Part III: Basic Subjects 
(B.Com Gen & Voc) 

 
 Paper 1: Financial Accounting - I  

 
Time: 3 hours                     Max. Marks: 80 

SECTION – A 
 

Answer ALL questions.                   4 x 15=60 
1. a)  Enter the following transactions of the premier trading company’s cash book with  

three columns, Discount, Cash and Bank and balance the accounts as on 31st 
December 2012. 

  December 2012 
1. Cash in hand Rs. 4000. 
1. Bank Rs. 1000  (Cr) 
3    Receives A cheque from A Rs. 290 and allowed him discount of Rs. 40 
7.   A’s cheque deposited into bank. 
10. Withdrew from bank for office use Rs. 800 
12. Paid B/P by cheque Rs. 600 
15. B/R from Ram Rs 2500 discounted, crediting in the bank Rs.2,400 
20 Issued a cheque for petty cash Rs 100 
25 Paid to Gupta by cheque Rs. 920, discount received Rs. 30  
28 Made cash sales Rs. 900. 






Cr









                                                           (or) 
 

(b) On 1. 1. 2010 X Company Limited purchased a Machine for Rs. 60,000 and Rs. 
20,000 were spent on its erection immediately. On 1.7. 2011 another Machine was 
purchased for Rs. 52000 and on 1.7.2012 the first Machine was sold for Rs. 64000. 
On the same date another Machine was purchased for Rs. 50000. On 1.1.2013. The 
second Machine was sold for Rs. 46000. Deprecation was provided on Machine at 



the rate of 10% per annum on the original cost annually on 31 Dec. Prepare 
Machine a/c for the above four calendar years. 








 
       2. a)  From the following trial balance of Deena Dayal as on 31.12.2008, prepare the 

Trading, Profit and Loss a/c and Balance Sheet. 
 
                                                                   Dr. Rs.                    Cr. Rs. 
Capital            80,000 
Drawings                                                         6,000 
Plant & Machinery 
(Balance on 1.1.2008)                                20,000 
(Additions on 1.7. 2008)                              5,000 
Stock (1.1.2008)                                    15,000 
Purchases                                                           82,000  
Returns   inwards                                                 2,000 
Debtors                         20,600 
Furniture & Fittings           5,000 
Freight Duty             2,000 
Carriage outwards              500 
Rent, taxes           4,600 
Printing and stationery           800 
Business expenses               400 
Creditors           10,000 
Sales         1,20,000 
Return outwards            1,000 
Postage – Telegrams                      800 
Bad debts reserve               400 
Discounts                800 
Rent on buildings          1,200 
(up to 30.6.2009) 
Insurance charges                 700 
Salaries – wages             21,300   
Cash in hand                6,200  
Cash at bank              20,500 
          _________   ________
  
           2,13,400  2,13,400 
         __________           ________
   
 
 
The following adjustments are required. 



a) Stock on 31.12.2008 is valued at Rs. 14,600 
b) Write off Rs. 600 as bad debts and maintain the provision for doubtful 

debts at 5% on debtors. 
c) Make a provision of 2% for discount on debtors   and creditors. 
d) Depreciate furniture and fittings by 5% and plant and machinery by 20%.  
e) Prepaid insurance Rs.100/- 





       
    

   
   
  
    
    
  
  
  
    
   
    
    
      
     
     
  
    
       
   
   
   
    
   
    
  
 




    









 

(or) 
 

b)   From the following particulars, ascertain the bank balance as per cash book of   Swamy 
as at 31st March, 2012. 

i)  Credit balance as per pass book as on 31.3.2012 Rs. 2,500. 
ii)  Bank charges of Rs. 60 had not been entered in the cash book. 
iii) Out of the cheques Rs. 3,500 paid into the bank, a cheque of Rs. 1000 was 

not yet credited by the banker. 
iv) Out of the cheques issued for Rs. 4,500, cheques   of Rs. 3,800 only were     
      presented for payment. 
v) A dividend of Rs.400 was collected by the banker directly but not entered 

in the cash book. 
vi) A cheque of Rs. 600 had been dishonoured prior 31.3.2012 but no entry 

was made in the cash book. 












 

3 a) Murthy of Hyderabad consigned goods of 100 tonnes at Rs. 1000 per each tonne to  
Madhav of Tirupathi after including 25% on cost to be sold at invoice  price. He spent 
Rs. 2000 and Rs. 3000 towards transport and insurance respectively. In Transit 10 
tonnes were spoiled and Murthy claimed insurance of Rs.6000 to which insurance 
company accepted. Madhav sent his account sales after two months as follows. 

           80 tonnes sold at invoice price. 
1 tonne lost due to normal reasons. 
9  tonnes were with consignee.  Selling expenses Rs. 2,500, his commission 

3% Madhav sent due amount by DD. 
          Prepare necessary ledger accounts in the books of Murthy and Madhav. 
















 

    (or) 
 
b) Rectify the following errors by using suspense account.  

i)   Goods sold to Rama Rs. 1,000 were not posted to his account. 
ii)     Purchase book was overcast by Rs. 400. 
iii)    Sales book was undercast by Rs. 53. 
iv)    Purchase returns book was undercast by Rs.16. 
v)     Cash received from Govind Rs. 111 was posted to his account as 

Rs.1,111. 
vi)    Cash paid to Raghu Rs. 770 was posted to his account as Rs. 170. 
vii)   Payment of Rs. 140 rent debited to Landlord account. 
Viii) Payment of Rs.1000 to A posted to his credit as Rs.100. 
ix)   A credit sale of Rs. 500 was entered in the returns outward book. 
x)    A cash purchase of Rs. 105 was not posted in the ledger. 
xi)   Rs. 150 paid to Dinesh posted to Dhir. 
xii)  A credit purchase of Rs. 300 from Y posted as Rs. 30 in the ledger. 



















 

4  (a) Vikas draws a 3 months bill on Vishal for Rs. 4,000 on 1.4.2012.  Vishal accepts the 
bill and sends it to Vikas who discounted it with the bank for Rs. 3,940 Vikas sends ¼ 
of the amount that is Rs. 985 to Vishal. On the due date Vikas could not send his 
amount to Vishal and accepts a  bill for Rs. 4,500 for 3 months which is discounted by 
Vishal for Rs. 4,440.  Vishal sends Rs. 330 to Vikas.  Before the due date of the second 
bill, Vikas becomes insolvent and 25 paise in a rupee was received from his estate. 

          Give journal enters in the books of both the parties 

¼






(or) 
 

(b) Ramesh and Suresh join together to construed a building for Rs. 25,00,000 sharing 
profits and losses equally. They opened a joint bonk a/c, each contributing Rs. 
5,00,000.  They incurred the following costs.  
Raw materials purchased    10,00,000 
Wages         2,50,000 
Materials supplied by Ramesh       75,000 
Materials supplied by Suresh      1,00,000 
Suresh took over the stock of material valued Rs. 50,000.  The contract was 
completed and all the money was received.  Prepare Joint Venture a/c joint bank a/c 
and Personal Accounts. 






    
       
     
     



 
 
 
 
 
 
 
 



SECTION -B    
Answer any FOUR of the following.           4 x 5=20 

 

 5. Advantages of computerized accounting. 



5. Enter the following transactions in analytical Petty Cash book and balance the 
same  

2007  
June 1 Received for Petty Cash payments               1,000 

          2 paid for postage            80 
          5 paid for stationery                 50 

 8 paid for advertisement          100 
12 paid for wages            40 
16 paid for carriage             30 
20 paid for conveyance           44 
25 paid for travelling expenses         160 
26 paid for postage          100 
28 wages paid             20 
30 paid for telegrams            40 


         
     
         
        
      
        
        
        
       
        
        
        

                  
7. On march 31st, 2012 sundry debtors and creditors stood in the books of accounts of Mr. 

Phani at Rs. 60,000/- and Rs. 45,000/- respectively.  5% provision for doubtful debts and 
3% provision for discount on debtors were created.  A provision of 2% created for 
discount on creditors.  The position for the year ended March 31st,  2013 was as follows . 

a) Actual bad debts Rs. 1,250 
b) Actual discount allowed Rs.900. 
c) Actual discount received Rs. 1000. 

The provisions were to be maintained at same rates as in the previous year on sundry   
debtors and creditors which stood at Rs.48,000/- and Rs. 40,000. Show the ledger          
accounts. 
















 

8   Error not disclosed by trial balance. 

 

9  Sai Ram of Anantapur sent 100 computers costing Rs. 1,00,000/- to Sai Krishna of Guntur 
by spending  Rs. 3000 towards freight.  Sai Krishna spent cartage  Rs. 600/- godown rent 
950 and sold 80 computes. Find out the closing stock value on consignment. 







10. Features of joint venture. 



11.  Methods of preparation of  Trial balance. 



12.  Provision Vs Reserve. 
 Vs
 

 

 
 

 
 

 
 

 
 

 
 


